11350381 KA. XM ANhE

2|,
S A S 3] EN e , i%)t o ;E‘LE; /EJ,WEI 1](5: R 2 #"‘E_
2 1= 4 E Bl % FoE # & LTS ?;f) () [(53)] () | (Keal)
i+ 4% W FX z R r g K
3/1 RN = gh e fo ¥ ® | Gl WEE =B F k& | 5| 2 [1.8]28] 1 747
I PR LB SE el B FE gpa AL G w5 ¥
) 21 g | + 3 e e ) X T 4%
34 g yrpae| T AT L) FHEF k) 2w §OR = 5 (2.3 1 [2.5 665
- LIS AR 2R A R 3 SR SRR S
JJ-‘- 4 J " F - — o '/ Sy
3/0 |cympe| BARERENE g HRIE | T FE A ERF s |asl2315]25] 1 702
- TR E -, R ARE KE EE. B A
% J" * ¥ 3 , & 7 FTo p
3/6 PE s B3k ) AR * é ¥R AR Y5 * T =i-F geelasl 21 (2.5 11707
= LR BRE R §o4 T RE
3= 2 > ) S M
T wepan | wFE Ryl BRI ) g sy HES N 1.6(2.5/1.5| 3 687
= RE.EY 3= Xt o e |
N —’r:-‘;’,“)‘,l > e A A
3/8 | ¢ wax g Y 4 x| TFEVS | g pEyg B R k% 5|3 (15251 791
7 47 B kA E NS Y + BB
& T - Ry . EERE L 3
S e | BWFER ) BARRE || 3¢ |TEETLE 1.5)2.5) 2 [2.5 670
- BRI FE B FE EA TE. OBy AF
JH J, Ju § o200 KR =
2w e RURE | BEFVRR ) 4 wa e | 2R ITF s lis]5]18] 2| 703
E A el I R SR
o7 47 ). L - RS ~
/13| pg FRE  |p| FENE gl aanm| BANSF snelaslas| 1] s 1| 768
= B R L EA il ) LT WL i
- ‘LJ.*-: - az A "'*“"—,f’t'\'?’;‘:
/14| yyy o | BRA wl ARER | t 3y LREE 5 2.3 13 687
= AT L8R AEH A5 i FE
=y (R 5 - oty 3 —!"‘ ) = vy = BT
a8 Nf— - v: =3 A e A A 3 Z 3 =7
3/15| # % =Y % FHEY R gl 4R = W k& 45250 1] 2|1 698
E+ £ B2 ei 4 K S ER LS ] % 2. F =
' X - i ARt e T
3/18| s 3R AR B w| TR vl FF AR 4.52.5/1.5[2.5 673
- BLUEE. Eie e BRE N RS
e T o
= r i < J’:“
3/19| st 4e Ay o oy 5 il 4t % AR RTF kg | 2| 2 (28] 1 704
N Vi
- B~ BH B Y IG e AR R
K4
% l: / » 7 /—“’”:"L“—J;.: o
3/20 ;},j;.jéa ‘%% ‘K j% éﬁ ,‘i"#‘ JF ):2—)_573 }&Fﬁ_ a f ¥ %/g %er_‘;, 5 12.5] 2 12.5 1 720
= IHEF. BRE. AP W A X BRFE CEF.AD B 4T
A W Yg I 3= N . 2] l — B -4
3/21 e | LI | BARIR Lyl sy BAZS 5 |2.5|1.2[2.5 700
BB LE v R IR By . say. 1y
1t ¥ A B - = &
3/22 e | BAEF el RFYUAR )4 ey B 5 wx |52 lieles 1| |7
EE.op AT WiELR ML B AR F 2.
‘-J. ), z A — 4!5: B '/Lr:
3/25 Jode | ATEE g ERWIA |l o3g K R 4.8/ 2 |1.5] 3 675
- w B iz S S A eI S -
¥ J, Lk w5 JE S DN SN
3/26| g o FORS g BIOERK |y t@Ey | 2 ARE  kels|2|1]3]1 736
= "%“Pi%‘.«w% X RN - X ) E N Y Pk
3/27 iy o B 55 2 2L
A oA s e B 75
3 g = X A G
3/28 ppae | PRESIE e BFRYOR g may | RALFH 5.2 2 |1.2] 3 695
LS. T 3 S 3 <AL A
J — R .»'»‘),/1\ 4 + ,
1 B0 K 0. 3 = §. A
FRERFHUR # £ (Keal) 1 ag) 2 A p 3 (P) Fxa(») kEHG) g (i) B 5 (5)
) 1-3# B 670 4.5 2 1.5 0~1 0~1 2
B 4-6-# B 770 5 2 2 0~1 0~1 2.5
¢ 860 5.5 .5 0~1 0~1 2.5

RERMH - HRARBTRAT (FH—REAEECHEANRY - BXRIURERFENRM)
AREE/E ReD MBI EE BE

BE3E=Z 5B KEHEBERR Il%?i@ e
(1. EBhRS - N (3. #meEs : oo A# - o% "
ESERRENE S - 8 | | SETEDSENR - s [ LOBR—K - [BERBERE © FHILE o
MM - hEGRERNER | (BBBIET  BHPE - -. %% TS EHRK - EDHJG PRI OIEN0ERE
| 9/E B~ ) 7 ——————=( e, e IEEE IS
L BB EW : BEEER | =3
(2. GEDUEERD : BREDAE ) | BOKIRGEARE o [S8 ﬂbﬂjE%m [ha%}@m?ﬁzs%ﬁ 7J<J} éﬂﬂ%ﬂ%
BRRRHREREY - ABR | | BESRRBED - @it L RERERIK o b

TRt SRR ST - oA BRI BlCESHENE =] S00REFFBI7K ™ %eﬁ,. sigpE,
 BRERE A BRE o )| meo - nERERES %‘%;'jé%g?mg ﬁ?‘/ & {@ }55
\ K2 ! 200 e = e




A e = R #E
Py 1 = a % ] 77‘ }i % ()| (Kecal)
’J. 4 W lrd , J‘,/l .
Ei S %@% sl b CRAPLE NS X1
) 21 =) . > X o i W
3/4 JWMK% {}ﬁﬁzg FrRER |4 33 665
- ERE, 59 FogES R AP 2. F A
3/5 - F7kE SF AR é #% l‘ J‘% i Lt + )fﬁH‘ 5! 4}3 ﬁﬁ% 702
= 3P AN BT AL BRE.TE K. B
L g S LS . , &g v <
36 | mx T E ’if * i}f%‘ | Ad | T T f soglas| 2| 1|25l | 1|0
= vk, 2B B RE PeiE XL & §o4 5 RE K
gy )0 - R N
3/ ¥ AR ! %‘-’-'% W e )y ’}g Jbzxs-;k% 4@5‘7*/}% 4.6 12.5|1.5[ 3 687
> LB R PR EF.AR. 5%
h RSN S R V) IE — e &
| puec | WEAVEH |yl TERIUR gl e = # k% |5 |3 |ns|25 1 791
7 EL R E S0 EEL SN LR A 38 %
i Al BRE.ER LEE X1
M2 nwye| BUFHE |y BREYVRT g wrg| PFFEE g s|2s]is] e [0 703
- B¢ i EE BE S T .
Jr A ) e , i AR S _
3/—13 R q»;;;ﬁm/ i 4;;;*? | 2S B E }‘:‘r/g i L
= E T RS ARE P R o A
/14| jpwae | BWBEH ) ARER |4 R hicEi kB 5 1230 1] 3 687
® FEE A LR A B b B E
=y (R N - - ), A= Ly = KT
I = > s e a a— = e = 1=
3/115 ' 2’! =HRE e ié%“’ Bl gy 2R Zx as]es| 1] 2|0 698
2o 4 K% e ¥ i OFEH CR) e, F =
X L ¥
3/18| 4 5 AR & 3K H 2 ¥ bt I &3 I § 15(2.5/1.5/2.5 673
- BabE, Eic 0 e+ BRFE AN R
Fo¥ 2 T . .
¥ T g =
3/19 7}{#%;; L= T E ; )y }’]//%?fé_-%f ,‘,,; ")5 %&%%— \37'”\\?% }T /%’ d(% 45| 2 2 12.51 1 704
- 2%, 54 & ¥ 5T A E
3/20 %i‘\: fiﬁ > - &‘ E’ }6:‘—" - /= x’?’:“\g
P %%"j’ifi féz é /J§‘ T = /EE éf-ﬁ@)ﬁ 1 T ETF FU &l 5 [2.5] 2 2.5 1| 720
= IRY BRE B 1% e R BRF. CEY. AR 2685
32| gy | WEBEL (3| TAEE  |ylipryg| MAEF 5 |2.51.2|2.5 700
= fai. . LI By .23 248
s+ 3 ¥ S H e e
322\ 3 4 e ﬁ;#f%* g i %i: wl 3 waEy f“‘i s |5 |2 |nelasl 1] |79
I FRE L EE . R AR5 B 2.5
rA - ), P % Lo N
3/25 s AR ﬁ‘l'{%ﬁ‘l e EA B R )y + oz 3 I ST 48 2 11.5 3 675
B, 4t AR H f ETE
3/26 pyyan | FEVEE |yl BRI gl 4| BARFT a5l s 1] |
= EF. BE LG F PRy ER. Ry k. BEE
V4 [.I‘- » _
G B R E e
A= gl At ’ A= — Ve s ) -
Ik 1 =+ fw ) v e B . . = A F s
3/28 7}157}%; ‘b”f':i‘ &% ‘{3{% = 4#’7&;1\ )y ?ﬁ‘g%% 2 L"& | j}? 5.21 2 11.2] 3 695
PR B8R ER.A6 F AEALELS
* P ) Ed .\—«’—J/l‘ e ae 4r 1 :
3&9_i*ﬁ éﬁ:*%JfFﬁ; é;z;}» SRR T2 miﬁ1&1£7k45321ﬁ251 729
A EER iv. o A R
FRERY G # £ (Keal) EEE-AED) Ak FHEGR) FEHG) k&3 (R) P EE () R H ()
&) 1-3# & 670 4.5 2 1.5 ~1 0~1 2
R/ 4-64% & 770 5 2 2 ~1 0~1 2.5
Bk 860 5.5 2.5 2 ~1 0~1 2.5
RENH - HRRKRBRAY (FR—2ERABECEENRY - XRONK[ERIEENRHY)
REES/E e REBEE ng
BEREZENEKEHEBER — EAER
(1. WEHRE : N (3 mmmaEs : Ses

\ BY/EFB -~

fEFFReAEIBUIE RS/ - E28D
AEHR - HEBIEERARBR

J

et RERERBVRE

(2. iREDHEIERY) : BRIEEEERIKI
PRER TR IR BEBRES RN o AR
RO OIRIBRE DS - thas

~

| BERIEE - RS -

BEETEE SR ﬁ‘ﬁﬁ _

Ry ZlE

\IKDE !

/4. YRR il : Hﬁﬁ%ﬁm
EREIKDREYCARD - th
BRERRBISD o B
SR
m2o)  hBREZHA

ot RIEELE

/\l\

=308 AR -

O LB - B ES SRR
SEMTEER - BERK o N .
@@% ) B S00RFEK ﬁﬁﬁmﬁf‘7;

$QEW WK » (SR SIS ~ B LE R o
*.mﬁmamﬁm mﬁ EEURHD T I8 B

SKD - EENEIR

EE T o




